Math 262 — 28 October 2019
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1. Let Z be random variable.

(a) What is P(Z < 0.8)?
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(b) What number c is such that P(Z < ¢) = 0.4?
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2. Let X be a normal random variable with mean 24 and standard deviation 2.

(a) Whatis P(23 < X < 25)?
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3. What is the probability that a normal random variable is within 1.5 standard deviations of its mean?
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4. Suppose that a fair, 6-sided die is rolled 1000 times. Approximate the probability that the number 6
appears between 150 and 200 times (inclusive). AN Bioial ex f)?rfmmf'
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5. Let f(x) denote the standard normal pdf. Estimate f (1) using only the information in Table A.3 in

the text. .
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6. Let f(x) denote the pdf of the N(, o) distribution. Show that the points of inflection lieat x = u + o.

(Hint: differentiate twice with respect to x.)
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